
For panel mounting, see our innovative monomount standoff systems at: www.nzazz.nz

Installing A Parts back to back

www.pizazzsystems.com

A
d

d
 p

an
el

 t
h

ic
kn

es
s 

to
 

b
o

lt
 le

n
g

th
s 

b
el

o
w

O
p

ti
o

n
al

 p
an

el

A PartA Part

M4 Bolt M4 Hex Nut

M4 x 08 Lock Washer

Mounting A parts back to back

Add panel thickness to bolt lengths above
.156” .281” .375”

www.pizazzsystems.com

A
d

d
 p

an
el

 t
h

ic
kn

es
s 

to
 

b
o

lt
 le

n
g

th
s 

b
el

o
w

O
p

ti
o

n
al

 p
an

el

A PartA Part

M4 Bolt M4 Hex Nut

M4 x 08 Lock Washer

Mounting A parts back to back

Add panel thickness to bolt lengths above
.156” .281” .375”

www.nzazz.nz

P
E

R
FORMANCE 

Q
U

A

L I TY  AND

 

GUARANTEED

multi•mountsNZAZZ LIMITED

The intellectual property in this drawing is 
the property of NZAZZ Limited and/or its 
affiliated companies. Copyright © 2018. 
Unauthorised use prohibited.


